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SO H Y 13,814,953 9,846,300 3,968,653
= 2,867,960 2,608, 170 264,790
< 1,648,668 1,078,331 570,337
x 20,000 0 20,000
Al 9,278,325 6,164,799 3,113,526
=&oIe) 8,512,917 5,656,344 2,856,573
= 1,505,000 1,098,000 412,000
= 254,570 256,570 A2,000
Al 6,753,347 4,306,774 2,446,573
SHOF KIIMENR 29 3,526,318 2,763,484 762,834
=HO SM2Y 255,002 195,002 60,000
201 YBr2 Y| 216,551 156,551 60,000
® 2==29Y| 188,650 128,650 60,000
OMEHMBIE SHRK 2L A2
2 105,000,002 106,000 45,000 60,000
Tt M ER Sl & Al 283,518 283,518 5,000
301 YBHHHD 283,518 283,518 5,000
14 J|EFE A2 283,040 278,040 5,000
ORI MENHEA 222 7
200, 00024 %252 5,000 0 5,000
=HOIXOIMEN R 2Y 622,123 532,123 90,000
201 YBr2 Y| 550,262 460,262 90,000
01 Ak22t2lY] 503,997 413,997 90,000
O=HUEX UVE IS442 L AR
M= 278,000 188,000 90,000
—JtEsa2 2 258,000,002 258,000 168,000 90,000
SHO 2220 MH A 138,071 127,071 11,000
206 Tl 3,862 2,862 1,000
01 b 3,862 2,862 1,000
ODSZO AMHAY W27
23 3,862,0002 3,862 2,862 1,000
401 Al&HIL S OhH| 10,000 0 10,000
01 A& 10,000 0 10,000
OS2 SXA 10,000 0 10,000
—dsteIRt2 120,00024 462 * 102! 7,200 0 7,200
~HIIZ Halbl 400, 0002147 2,800 0 2,800
=HOF SR 2L 1,849,044 1,298,876 555, 168
101 Q1248 152,208 123,040 29,168
VBIESEENEEES 152,208 123,040 29,168
O=&EX 282 AL 29,168 0 29,168
—J1=3 78,8802 #6260 28,397 0 28,397
N1 28,396,800/ *1.75% 497 0 497
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201 22 306,876 270,876 36,000
02 2324l 185,160 149,160 36,000
O&ol=E AIZE Z2 & 42,000,000 42,000 24,000 18,000
QdiEH2t & X &I| AL8=
Z2& 120,000,000 120,000 102,000 18,000
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01 M=l 28,900 18,900 10,000
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=S == 22
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= 15,000 0 15,000
201 fer= 3| 15,000 0 15,000
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OQlstd] & ARITEH Xt
1,000,000& %124 1,000 0 1,000
= 1,000 0 1,000
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03 &A= 9,250 0 9,250
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OOI XAt XA 6,307,000& 124 6,307 0 6,307
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= 190,000 290,000 100,000
Al 152,000 232,000 80,000
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OXtE2elo0 Y SEAIH|
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= 190,000 290,000 100,000
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< 48,000 45,000 3,000
Al 112,000 105,000 7,000
401 AlEBIYL LY 160,000 150,000 10,000
< 48,000 45,000 3,000
Al 112,000 105,000 7,000
01 Al&HI 160,000 150,000 10,000
oog & oY dHs=AsS7 4X 160,000 150,000 10,000
—ol=asS7 S EX
Z& 160,000,000& 160,000 76,000 84,000
[ 48,000 22,800 25,200
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Al 0 22,400 A22,400
—&XEEE 3F 0 0 42,000 A42,000
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| Al 0 29,400 29,400
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= 0 1,500 21,500
= 0 1,050 A 1,050
401 Al&HI 2 S OHY| 0 2,550 12,550
= 0 1,500 A1,500
= 0 1,050 21,050
01 Al&H 0 2,580 22,550
OHAEIZE 2E X2l HI8
23 o2 0 2,550 12,550
= 0 1,500 21,500
= 0 1,050 21,080
NRZAY R20142 23 g 30,000 50,000 20,000
= 9,000 15,000 26,000
Al 21,000 35,000 14,000
307 212+01 % 30,000 50,000 20,000
= 9,000 15,000 26,000
Al 21,000 35,000 /14,000
(EIEIEPONSEES 30,000 50,000 £20,000
Oss04e 23 23 30,000,000 30,000 50,000 £20,000
=3 9,000 15,000 6,000
Al 21,000 35.000 14,000
SAOY KSBAIE FH| XA (FSALL) 160,000 216,000 56,000
= 100,000 135,000 35,000
Al 60,000 81,000 A21,000
401 Al&HI 2 S OHY| 0 216,000 216,000
= 0 135,000 135,000
Al 0 81,000 /81,000
01 Al&HI 0 216,000 £216,000
OLA0IE KHE3H Z| 25 oo 0 216,000 £216,000
= 0 135,000 135,000
Al 0 81,000 81,000
402 RIZIXH20IH 160,000 0 160,000
= 100,000 0 100,000
Al 60,000 0 60,000
02 QIZHAHEAI 2 X (OIHTH ) 160,000 0 160,000
OYLAOE IS5t 2|
20,000,000 +87H 2 160,000 0 160,000
= 100,000 0 100,000
Al 60,000 0 60,000
01442 S XA 16,000 0 16,000
2 16,000 0 16,000
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= 16,000 0 16,000
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O0laf=2 Us A3
2,000,000 x84 16,000 0 16,000
= 16,000 0 16,000
OIS ARIDEE AIE ALY 900,000 0 900,000
< 450,000 0 450,000
Al 450,000 0 450,000
402 RIZHAHZ01H 900,000 0 900,000
< 450,000 0 450,000
Al 450,000 0 450,000
02 QI TH2AILEE (01X THE) 900,000 0 900,000
O=¢tE AHXIDISAIE HE A
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< 450,000 0 450,000
Al 450,000 0 450,000
2SS H 2=t 6,000 0 6,000
= 3,000 0 3,000
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= 3,000 0 3,000
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Al 2,100 0 2,100
01 AlEZHI 6,000 0 6,000
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6,000,000 124 6,000 0 6,000
= 3,000 0 3,000
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Al 2,100 0 2,100
=02 AZETH XA 4,340 0 4,340
< 1,300 0 1,300
Al 3,040 0 3,040
307 2I2t01 4,340 0 4,340
< 1,300 0 1,300
Al 3,040 0 3,040
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O=btE AZET XIZAY
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< 1,300 0 1,300
Al 3,040 0 3,040
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< 3,000 0 3,000
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O==tt= 2 Sibidl X3 A
7,500,000 124 7,500 0 7,500
< 3,000 0 3,000
Al 4,500 0 4,500
A2 TEO0E XA 26,670 0 26,670
[ 10,000 0 10,000
Al 16,670 0 16,670
307 2Ito1d 26,670 0 26,670
< 10,000 0 10,000
Al 16,670 0 16,670
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< 10,000 0 10,000
Al 16,670 0 16,670
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= 20,000 0 20,000
401 AlEHIYL L THYI 20,000 0 20,000
x 20,000 0 20,000
01 Al£ZHI 20,000 0 20,000
OEF0t= MEE XA
20,000,000 * 100 2 20,000 0 20,000
= 20,000 0 20,000
off et 2tel 1,594,856 1,629,142 ~34,286
= 908,000 967,000 59,000
< 196,000 165,000 31,000
Al 490,856 497,142 16,286
HYESAAALIAS (FAEX) 40,000 107,142 N67, 142
= 28,000 75,000 A47,000
< 6,000 0 6,000
Al 6,000 2,142 N26,142
201 ger= 3| 0 36,000 36,000
= 0 25,200 125,200
Al 0 10,800 10,800
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OES=012 & JIgHA 38 0 0 36,000 A36,000
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202 Ot 7,000 7,200 2200




22 Hr

o

2
HT

02 02
el
i 4

NPy

il
)

i
(O

SN - GA(SH) - NRAY - BES ol & o HlRE2
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= 1,050 0 1,050
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s 1,050 0 1,050
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= 0 5,770 A5, 770
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—AlH| 323 0& 0 1,500 21,500
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